10. INTERNATIONAL SOLVING CONTEST

26 JANUARY 2014

CATEGORY 1  -   ROUND 1  -  PROBLEMS     Time 2 hours
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	Mate in 2 moves             (8+12)                   
	Mate in 3 moves           (12+12)                  
	Mate in 5 moves            (11+5)
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	White to move and win    (6+3)
	Helpmate in 5 moves       (2+8)                   
	Selfmate in 3 moves       (11+9)

	
	2 solutions
	


2#: Give the key.

3# and n-#: give key, possible threat and all variations till and including white’s last but one move.

EG: give all moves up to an obvious win.

H#: give the complete solutions (for one solution you will get 2,5 pt).

S#: key, possible threat and all variations till white’s last move.

From the WCSC rules:

The solutions are to be written in the following way:

1) in direct mate problems: all moves in all variations of full length including the threat if it is of full length too except the last move of Black and the mating move, i.e. in twomovers only the key; in threemovers all three move variations, including the threat, up to the second white move, etc.

2) in helpmate problems: all moves.

3) in selfmate problems: all moves except the mating move in all variations of full length, including the threat if it is of full length too.

4) in endgames: all moves up to an obvious win or draw.

5) if a threat is not written all required variations (according to a,c,d) are to be given.

6) in problems for which more than one solution is indicated the solver has to give the requested solutions. In all other problems and endgames only one solution is to be given.

7) if a solver believes he has found a cook, he may give it instead of the solution. In this case, he has to give the complete moves of the cook according to point 8.

8) the correct and complete solution or cook of a problem scores 5 points. An incomplete solution scores fewer points.
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	John O’KEEFE, William J. SMITH, 1 Pr. The Good Companion 1917
1. - Sd3/Sb~/d5+ 2.Lg2/Td4/Sc5 #

1.Tf2! [5] (2.De6 #)                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                

1. - Sd3,Sf3 2.Df3(:) #

1. - Sb~ 2.Dd4 #

1. - d5+ 2.De7 #

1. - Kd5 2.Df5 #

1. - Ke3 2.Tf4 #



	# 2                       (8+12)
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	Volodea VAISMAN, Problem 1960

1.Dg6! (2.Sc5 [1] (3.De6:#))

1. - ed6 2.Kg3 [1] (3.De6:#) Le5:+/Te7 3.Tf4/Sb6 #

1. - Lc4 2.Kg1 [1] (3.De6:#) Ld4+ 3.Te3 #

1. - Ld4 2.Kf1 [1] (3.De6:#) Lc4+ 3.Te2 #

1. - Le5: 2.Td4+ [1] Kd4:/Ld4: 3.Dd3/De6: #



	#3                      (12+12)
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	Herbert ENGEL, Comm. Rochade 1980-81

1.Lh7! h4 2.Th5 h3 3.Lh6 Ke5: 4.g6+ [5] Ke4: 5.g7 #                                                                             
 

	#5
            (11+5)
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	Vladimir KLYUKIN, 5 HM Vecherny Kiev 1965
1.g7 a1D 2.gh8L [1] (i) Dh8: 3.Sg7 Ke7 4.Ka8! [+1] (ii) Kf8: 5.Se6+ [+1] Ke7+ 6.b8D Dh7: 7.Dc7+ [+1] Ke8 8.Dd8+ [+1] Kf7 9.Sg5+ +-

(i) (2.gh8D? De5+! 3.De5: stalemate)

(ii) (4.Ka7? Kf8: 5.Se6+ Ke7 6.b8D Dh7:! 7.Dc7+ Ke8! 8.Dh7: stalemate)
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	Miomir NEDELJKOVIC, Probleemblad 2004

1.Df3 Tg7: 2.Td4+ Kg5 3.Sf4 Kf6 4.Kd5 Tg5+ 5.Ke4 Te5 # [2.5]

1.Se5 Tb7: 2.g5 Kh6 3.Kd5 Kg7 4.Ke6 Tb6+ 5.Kf5 Tf6 # [2.5]



	h#5         2 sol.      (2+8)
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	Petko A. PETKOV, 5 Pr. Schach-Echo 1974

1.Th2! (2.Df3+ Kf3: 3.Sg5+ [1] hg5 #)

1. - Le1+ 2.Lg3+ Ke3: 3.Df4+ [1] Tf4: #

1. - Le3: 2.Dg2+ Kf4: 3.Df3+ [1] Kf3: #

1. - Sd4 2.Le5+ Ke3: 3.Sf5+ [1] Sf5: #

1. - Se6 2.De6:+ Kf3 3.Sg5+ [1] hg5 #



	s#3
            (11+9)
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	Mate in 2 moves          (10+11)                   
	Mate in 3 moves               (9+8)                  
	Mate in 4 moves           (9+12)
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	White to move and win  (4+4)
	Helpmate in 3 moves     (9+10)                   
	Selfmate in 6 moves       (11+3)

	
	2 solutions
	


2#: Give the key.

3# and n-#: give key, possible threat and all variations till and including white’s last but one move.

EG: give all moves up to an obvious win.

H#: give the complete solutions (for one solution you will get 2,5 pt).

S#: key, possible threat and all variations till white’s last move.

From the WCSC rules:

The solutions are to be written in the following way:

1) in direct mate problems: all moves in all variations of full length including the threat if it is of full length too except the last move of Black and the mating move, i.e. in twomovers only the key; in threemovers all three move variations, including the threat, up to the second white move, etc.

2) in helpmate problems: all moves.

3) in selfmate problems: all moves except the mating move in all variations of full length, including the threat if it is of full length too.

4) in endgames: all moves up to an obvious win or draw.

5) if a threat is not written all required variations (according to a,c,d) are to be given.

6) in problems for which more than one solution is indicated the solver has to give the requested solutions. In all other problems and endgames only one solution is to be given.

7) if a solver believes he has found a cook, he may give it instead of the solution. In this case, he has to give the complete moves of the cook according to point 8.

8) the correct and complete solution or cook of a problem scores 5 points. An incomplete solution scores fewer points.
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	Eriks LAZDINS, 2 Pr. Shakhmaty 1958
1.Sfe7? Lf5! 1.Sde7? Se4:!

1.Sb4! [5] (2.Ld3 #)

1. - Se4: 2.Da2 #

1. - Se5 2.Sd6 #

1. - Sc5 2.Se3 #

1. - Lf5: 2.Ld5 #



	 # 2                    (10+11)
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	Milan LEGISA, Sinfonie Scacchistiche 1980

1.Tb8! (2.De5+ [1] de5 3.Td8 #)

1. - Sd4: 2.Sc3:+ [1]  Kc5 3.Da7 #

1. - Lc8 2.Se3+ [1] Te3: 3.c4 #

1. - e3 2.Lf3+ [1] Ke6 3.Te8 #

1. - c5 2.Df7+ [1] Kc6/Kd4: 3.d5/Lg7 #



	#3                          (9+8)
	

	9
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	Yehuda LUBTON, Die Schwalbe 1993

1.Lf2! (2.Tf6+ Kg4 3.Se5+ [Нверное 2 очка – ОЕ!, а не 1.5] Kh5: 4.Sg7 #)
1. - Lc3 2.Tg5+ Ke6: 3.Ld5+ [1.5] Kd6: 4.Lc5: #
1. - Te4 2.Sg7+ Kf4: 3.Lg3+ [1.5] Ke3 4.Sf5 #
All three lines: [5]


	#4                       (9+12)
	

	10
	Sergiy DIDUKH, original (for Robert Brieger MT 2014)

1.b7 (i) Tf7 2.Sg5 [1] (ii) Tb7: 3.Tb7: [+1] (iii)  c3 4.Se4 [+1] (iv) c2 5.Sc3+ Ka1 6.Se2 a2 (v)  7.Kb6 [+1] Kb2 8.Ka5+ Ka3 9.Sc1 [+1] (vi) a1D 10.Rb3 #

(i) (1.Sg5? c3 2.b7 c2 3.b8D c1D 4.Dg8+ Dc4 =)

(ii) (2.Sf6? c3 3.Sd5 c2 4.Sb4+ Kb3! 5.Sd3+ (5.Ka6 Tb7: 6.Tb7: a2 =) Kc4 6.Se5+ Kb5: =)

(iii) (3.Kb7: c3 4.Sf3 (4.Se4 c2 5.Sc3+ Ka1 6.Se2 a2 7.Kc6 c1D 8.Sc1: stalemate) c2 5.Tc5 Kb2! (5. – Kb1? 5.Sd2+ Kc1 7.Sc4 a2 8.Ta5) 6.Se1 (6.Se5 a2 7.Sd3+ Kb3 8.Sc1+ Kb4 9.Sd3+ Kb3 positional draw) c1S = )

(iv) (4.Sf3? c2 =) 

(v) (6. – Ka2 7.Ka6 Ka1 8.Ka5)  

(vi)  (9.Sd4? a1S! =)
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	Hans MOSER, feenschach 1978
1.Dh5 g6 2.De5:+ Ke5: 3.Td3 Ld5 #    [2.5]

1.Te2 Lf3: 2.Te5: Le2+ 3.Dd3 Ke5: #  [2.5]



	h#3       2 sol.      (9+10)
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	Bertil GEDDA, 1Pr. Tidskrift för Schack 1982
1.Se1! h5 2.Th2 h4 3.gh4 Kf4: 4.Sg2+ Kf5 5.Df3+ Tf4 6.e3 [2.5] Tf3: #

1. - h6 2.e8T h5 3.Dd7+ Te6 4.Dh7+ Tg6 5.Dh5:+ Tg5 6.Tg2 [2.5] Th5: #
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	Mate in 2 moves         (11+9)
	Mate in 2 moves       (13+11)

	
	

	3
	4
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	White to move and draw (4+6)
	Selfmate in 2 moves  (12+10)
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	Mate in 2 moves       (10+11)
	Mate in 2 move          (12+8)
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	Mate in 3 moves       (10+14)
	Helpmate in 2 moves    (6+7)

	
	4 solutions
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	Vatslav GEBELT, Pauli MT (v) 1934

1.Le1! [5] (2.Sb3 #)

1. – Td2 2.Lf2 # 

1. – Ld2 2.Td3 # 

1. – Td5 2.De4 # 

1. – Ld5 2.Sb5 #

1. – Se5 2.Db6 # 

1. – D/Te5 2.Dc4 # 

1. – Te1:/d3 2.Td3(:) # 

1. – Le4 2.De4: #



	#2
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	Efim RUKHLIS, 1 Pr. Revista de Sah 1962
1.Lg6? (2.Dc6, Sd3 #) Db5:!

1.Lf5? (2.Td5, Sd3 #) Td6!

1.Lf6? (2.Dc6, Tc3 #) Sa5:!

1.Le5? (2.Td5, Tc3 #) Sb6!

1.Dg6? (2.Sa6, Se4 # ) Sd6!

1.Df6! [5] (2.Sa6, Ld4 #)                                                                                                                                                               



	#2
                     (13+11)
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	Sergiy DIDUKH, 1 Pr. Uralsky Problemist 2004

1.Sg6+ Ke8 2.Te3+ [1] Kd8 3.Se5 c1D 4.Sc6+ [+1] Dc6:+ 5.Kc6: d2 

6.Td3+ [+1] Kc8 7.Th3! [+1] Lf3+ (Lh5) 8.Tf3: (Th5:) d1D 9.Tf8+ (Th8+) Dd8 10.Tg8! [+1] Dg8: stalemate
Уточнение в скобках было проведено по замечанию Сергея Абраменко. Почему, подумайте сами!



	=
                          (4+6)
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	Alexei KOPNIN, 7 Pl. Tourney of Socialist countries 1975-76

1. – Df6 2.Sf6: Lb6 #

1. – Dg7 2.Sg7: Lb6 #

1. – Dg8: 2.Dg8: Lb6 #

1.Dd7! Df6 2.Dd6+ [1.5] Dd6 #

1. – Dg7 2.De7+ [1.5] De7: #

1. – Dg8: 2.Dd5+ [1.5] Dd5: #

All three lines: [5]


	s#2     
                      (12+10)
	

	
	


                              *Notation: King=K   Queen=D   Rook=T   Bishop=L   Knight=S   Pawn=P
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	Comins MANSFIELD, Problem 1977
1.Lh5:! [5] zz                                                                                             

1. - Lb2,Ta3 2.Tce2 #

1. - Lg2:,Tg2: 2.Sg2: #

1. - Lh~ 2.Tg1 #

1. - Tb2 2.Lc3 #

1. - Tc2:,Dc2: 2.Sc2: #

1. - Th1 2.Tge2 #

1. - f5 2.Sc4 #

1. - D~ 2.Sf5,Tc1 #



	Mate in 2 moves          (10+11)
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	Gerhard LATZEL, 1 Pr. Nynorsk Vekeblad 1951
1.Sd2? (2.Sf3,Sb3 #) Le5! 

1.Sec5? (2.Sb3,Se6 #) g2! 

1.Sg5? (2.Se6,Sf3 #) b3! 

1.Sg3:! [5] (2.Sf5,Se2 #)

1. - hg3 2.Dh8: #

1. - Sg3: 2.Da1 #



	Mate in 2 move             (12+8)
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	Petko A. PETKOV, 1 HM Shakmatna Misl 1968

1.Db4! (2.Tde3+ [1] de3 3.d3 #)

1. - Sgf5 2.Sg5+ [1] Tg5: 3.Sf6 #

1. - Sdf5 2.Sf6+ [1] Tf6: 3.Sg5 #

1. - cd3 2.Te3+ [1] Kf5 3.Te5: #

1. - Lb4: 2.Td4:+ [1] ed4 3.Tf4 #

	Mate in 3 moves          (10+14)
	

	8
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	Zivko JANEVSKI, original for ISC 2014
1.Ta6 Te4 2.Tc6 Te5: # [1.25]
1.Tb3: Kd2 2.Kc4: Se3 # [1.25]

1.Lc3: Tc3: 2.Kd4 Td3 # [1.25]

1.Lg4: b4 2.Le6 Tc5: # [1.25]



	Helpmate in 2 moves      (6+7)
	

	4 solutions
	


